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Passage 1

Secret messages are funs to write m__
and fun to accept. One of the 2
easiest way of writing secret messages (3)_
is to used lemon juice (47 & ¥ ). Write 4
the message at a piece of paper, (5)__
use lemon juice instead of ink. (6)_~ﬁ
After the lemgn. juice has dried m._ .
the writing can be seen. {8)_

To make the writer show, @
just hold the piece of paper on heat. 1y
A lighted lamp bulbGll ILL i) 474 ) will an
give off enough heats to bring out (12)
the message. Another way to send a a3
secret message to make a code. {14)__

A simple code can be made giving each (1s)
letter of the alphabet the number. To make (16)._
these kind of code., write down the whole (1
alphabet. Then put a number over each letter as this: (18).

1 2 3 4 5 6 7 8 9 10 11 12 13
A B C DEVFGHTI GZ XKL M
14 15 16 17 18 19 20 21 22 23 24 25 26
N OP QR S T UV WX Y Z
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For an example, if you used this code to wre(19)
the word “help”, it would look like this, 8,5,12,16.
To write “save me”, you would put down 19,1,22,5-13,5.
By changing the number that stand for the (20_);__
"letters of alphabet. you can make many different codes.

Passage 2

Many people go to the church on Sunday, (1)
but others don’'t. Many sleep lately on Sunday (2)__“"_
morning, and others don’'t. Some people work 3_
on Sunday, but most doesn’'t. However, 4
almost everyone read the Sunday newspaper. 5y
.Often the paper is waiting out the door ©
when the family get up. The newspaper’s boy n__
has delivered (£ & ). The Sunday paper is as usually ®
very thick. Tt has many advertisements ()7 4 ) and o
many difference parts. The grown—ups in the family(10)
look like the front page, the editoral(i i€ ¥ Jpage, (11)
the world news part. Many men also read the (12)
sport pages and the financial(& @ M )pages. 13

Most men don't read the women pages, a4
but the mother of the family usually does. (15)
The women’s pages has news about parties and (16)_
mamiages, and advice about food, healthy and clothes. (17)
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Most Sunday papers have comic (¥ #7M),
that children enjoy. Older people read the death(18)
notices, which tells about people who have died(19)
during the weék.

There is something for everyone on the Sunday paper(20)

Passage 3

The world is filled many interesting sounds. m_
Some are very pleasant to hearing; others are @
inpleasant to our ears. In a single day you (3)
probably hear hundreds of different sounds. (4):

All sounds are different, Some may be softly; (5)
others may be loud. Some sounds are high; other (6)——_
are low, o

§ome sounds are usefil. Without being sound we can’t n__
talk or listen one another. The ringing alarm @ _
dock wakes peopie up. The hootirig of a hom (4 W\ ffJ 1% 747) (9)
on the road warning careless people of (IG)-—'
danger. We make sounds with making thin'gs (ll}_"_
to move to—and—fro. This to—and—fro movements (12)1
is been called vibration (4R #) ). It means (13}“
moving up and down and forward and backward (14)__
.very fastly. This makes sound waves, We can (15)‘__
make sounds among many ways, e.g. by (16)__:

_—3 -



shouting, clapping our hands and knocking at.the (17)
table, -We can make sounds only by with (18)
making things vibrate. We can talk for we (19)

can make our vocal cords (5 3ff ) vibmate, 20)
Passage 4
Have you ever seen the man in moon? 4))

If you look closely on the moon on some nights, 2
“You can see the face of the man from the (3)
"™ moon. Some people say that they can see 4
an old man carries sticks. Others say a girl (5)_h__
reading’' a book. These pictures being made by (6)_
mountains and plains of the moon. Long ago, o
people in England used to telling their childen ®_
that the moon was made of cheese (L B ). (9)_'_ ]
Everyone knows that it is not truly. The (a0

moon is large round rock. It is an_

complete bare. There are no living things. (12)
it doesn’t never rains on the moon, and (13)___
everything is full of dry., white dusts. (14)
Not even a sound can being heard on the moon. (15):
Where does the sun shines on it, the moon (16)
is very hot. In the shade, however, it is so (17)m
cold as ice. The moon is very smaller than (18):
—_ —



the earth. If you went to the moon, you (19
would weigh six time less than you do now. (20)

Passﬁgc 5

About 65% of Australia is used for farming. O
Mostofﬂﬂslandmgxas!a:ﬂandmi—dmt&)_
Only 9% of the land is good enough for crop’s G3)_
farming. The chief grain crop is wheat. In a 4_
good year Australia can harvest more than 16 mil]ions(S)__“
tons. Three million tons are need by the Australian(6)
people, All rest can be exported (!} 00 ). Mn___

Australia produce a lot of fruit. In the (8)_
past nearly all australia’s exports were agriculture(9)
products. Before World War 11 , Australia doesn't have(10)
much industries. Wool, meat, fruit and other products, (11) -
and " also some mineral were exported, But during(12)
World War II , more and much factories were buil(13)
to make the things people were needed. (14)

The Sydney area is the bigest industrial (15)
area. All kinds of industry found here. The (16)
other big cities are also importance industrial an_

BERN

|

centres.

In March 1982 there were 138 million sheeps(l8)
- in australis. This was 14% all the sheep in the (19)
. S —



world. One sheep gives seven kg of wools in the world.(20)

Passage 6
The police received a report six men A1)
had stopped a truck. The truck.was carried (2}

factory’s wages and the imen had attacked the driver(3)
They had tied him up and had stolen one of the bag(4)
After searching in three hours, the police found the(5)
truck near the river. The driver was sitting over (6]_
a bag in the truck and his hands tied behind his (7)__
back. The police climbed into the back in the &
truck and freed the driver. Then they asked him (9)

what happened.“T was stopped soon after I (10}:
Eft the bank,” the driver explained to.“ Six men stopped an.
my truck and made me driving to the river. 02
When T got the river, they tied me up, Then a3
they threw me into the behind of the truck. (14
There were two bags in the back and the thieves asy
took one of them.” *“ How many money had the (16)
thieves taken away? " a police officer asked. an__
“ They hadn’t taken away money at all,” the a8y
driver said with smile. The bag they stole (19)

was filled with letters. All the money were {20)__-
in this bag, o
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Passage 7

What is the sky? How long is it? Y
Where is it? What lie above the sky? I 2
am sure of that you have asked these questions. (3)
They are very difficult answer, aren’t they? (4)

If someone asked you:“ What colour the sky?”™ (§)
I expect that you would answer:* Blue.” 1 am ©
afraid that you would done wrong. The sky(7)
has no colour. When we see blue, they are (8)
looking at blue sunlight. The sunlight is shining in(9)

bits of dust on the air. Is the sky full (10)
of air? I am sure that you had asked (11)
this question, also. We know that there is (12)

air all around the world. We could not breath (13)
without air. Planes can't fly without air. They (4
need air lift their wings. Planes can’t fly very high(15)
because as they go high, the air gets thinner. (16)

If we go far enough away the earth,  we find (17)
there are no air. Perhaps we can answer (18 .
some of our questions now. What is the sky? None(19)

Where is it? Tt is all the world. (20)



Passage 8

Do you live in a city? Do you know how (I)___
cities begin? Long. long ago, the world had 2
only a& little thousand people. These people moved (3)
from place to place. They moved over the land, hunted (4)
animals for food. No one knows how or when 5

these people learned about grow crops. But when(6)
they do, their lives changed. They did not )]

have to look food any more. They could stay ®)
in one place and grow them. People began to 9
live near one another. And so the firstly villages (10
grew. Many people came to work in the villages. This (1 N
villages grew very big. When machines were appeared, (12)

ife in the villages changed again. Factosies. were(13)
built. More and more people live near the factoria.(M):

And then, cities were began and they (15)

grew bigger and big later. Today, some ' (16)_*
people are returning back to small towns. (l‘?)—
Can you say why? This is because there (18)“
is a few noise and the streets are not (19)_
crowding in small towns. 20



Passage 9

The Antarctic is actual a desert. m__
It is the only one continent on the earth 2__
“without any river or a lake. The 3_
Antarctic is all ice all year round. The 4
warmer temperature ever.recorded there (5
is zero, at the South Pole. Scientists used 6
to thought that a place so cold would have - "
a heavy snowfall. But less ten inches ef (8) o
snow fall each year, that is, less than (9)\

half an inch of water. Ten times that much rain (10)
falls in parts of the African desert. The little (ll)_
snow falls never turns into water. It continues 12y
to pile deeper and deeper year after year and {13)h_____

century another cenrury. When the snow gets (!4)w
to be eighty feet deeply it is turned (15)

into ice by the heavy weighs of the snow (16}:
above it. The Antarctic is such cold a an.. .
place that the snow must always be turned (18)_—
into ice. Few animals and plants can't (19)_
live there. Neither do the human beings. (20):



